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FUNDAMENTALS OF COMPUTERS

Max Marks: 60

PART - A
Answer any SIX of the following. (6x2=12)
What are pointing devices? Give example.
What is the main memory? Name two types.
Define flowcharts.
Define Application Software. Give example.
Write the BCD and Excess-3 Code for decimal number 9.
State any two postulates of Boolean algebra.
Write the Truth Table and Logic Symbol of the NAND gate.
Write the general structure of 3 variables K-Map.
PART - B
Answer any ONE FULL question from each unit. (12x4=48)
UNIT-1I
Explain in brief the characteristics of Third-Generation Computers. (4)
Write a note on Laser Printer. (4)
Explain any four applications of computers in different fields. (4)
OR
Differentiate LCD and CRT monitors. (4)
Explain the components of a Computer System. (4)
Write a note on Dot Matrix Printers. (4)
UNIT - II
Explain the functions of System Utility. (4)
Explain basic functions of an Operating System. (4)
Write an algorithm to display maximum of three numbers. (4)
OR
List and explain the advantages and limitations of pseudocode. (4)
List and explain different functions of Assemblers. (4)
Explain the advantages and limitations of Machine Languages. (4)

Contd...2



UNIT - III
6.a) Perform subtraction using 9's Complement Methods 841(10) = 329(10). (4)
b) Perform following conversions. (4 Marks each) 4)
a. (BCA.8)16= ()10 b. (201) 4= (),
C) State and prove De Morgan's theorems for two variables. (4)
OR
7.a) Perform the following subtractions using 1‘'s Complement Methods
(1001) , - (1011), (4)
b) Write a note on binary codes. (4)
c) State and prove distributive law. (4)
UNIT - IV
8.a) Solve the following using K-Maps F(A,B,C) = £ (0, 1, 2, 4, 5, 6) and
draw the logic circuit. (6)
b) With neat diagram, explain the working of half adder circuit. (6)
OR
9.a) Minimize the Boolean expression F(x, y, z)=x'y’z + x'yz + xy' and
draw the logic diagram for the minimized expression (6)
b) What are Universal gates? Prove that NAND gate is Universal gate. (6)
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Max Marks: 60
PART - A

Answer any SIX of the following.

(6x2=12)
What are tokens? Give any two example.
Differentiate character constant and string constants.
Give the syntax of conditional operator. Give an example.
Give the syntax of goto statement. Give an example.
How to initialize string array in C?
List any four string handling functions.
What is recursion?
What are actual and formal parameters?
PART - B
Answer any ONE FULL question from each unit. (12x4=48)
UNIT -1
List and explain features of C, (6)
Which are the primary data types available in ‘\C’? Explain. (6)
OR
Explain with examples declaring, initializing and assigning value to a
variable, (4)
Explain printf() function with syntax and example. (4)
What is an identifier? What are the rules used for naming an
identifier? (4)
UNIT - II
List and explain arithmetic and relational operators available in C. (6)
Explain while and do..while with syntax and example. (6)
OR
Explain any two types of 'if’ statement with example. (6)
Write a 'C’ program to find the sum of digits and reverse of a given
number. Also check if it is palindrome or not. (6)

UNIT - III
What is an array? How do you initialize the one dimensional array?
Explain with syntax and example. (6)
Explain with example how to declare, initialize and use stringsin C.  (6)

OR

What is pointer? How do you declare and initialize pointer variables? (6)

Write a program to sort elements of an array.

(6)
UNIT - Iv
Explain any two categories of user defined functions. (6)
What is structure? Explain structure definition with syntax and
example. (6)
OR

What is function? Write general form of function. Give an example. (6)
Explain  a) array of structures b) nested structures (6)
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PART ~ A
Answer any SIX of the following. (6x2=12)
1. a) Change into logarithmic form
a. 2*=16 b. ¥8=2

b) Find the equation of the circle whose centre is (4,5) and radius is 7.
C) Write the reciprocal of sin 8 and cos 6

d) Construct the truth tables for ~(pAQ)

e) If A={1,2,6,7} B={2,3,4,6,7} what is A+B?

f) What are equivalence relations?

g) Differentiate 7x*+3x3-9x+5 with respect to x.

h) Integrate 7x2-3x+8 with respect to x.

PART - B
Answer any ONE FULL question from each unit. (12x4=48)
UNIT-1I
2.a) Solve for x if log, 4 +log, 16 + log, 64 = 12 (4)
9
b) Find the 7" term in the expansion of (45—" - % (4)
¢) Find the coordinates of the point which divides internally the line
Joining (5, 2) and (7, 9) in the ratio 2:7. (4)
OR
3' a) Simplify i logm 25~ 2 |ng 3 +log10 18 (4)
b) Show that the points (4, -5) (8, 1) (14, -3) and (10, -9) form a
square. (4)
¢) Find the equation of the circle whose centre is (4, 5) and passing
through the centre of the circle X +y2+4x+6y-12=0. (4)
UNIT - 11
4.3) Ifpisin 4t quadrant and cos8==. find the valye of 125in6+5seco (6)
13 Stanf+6 cosc

b) Prove by means of truth table that, (prg) = (pvq) i
(pv@) = (paq)is not.

S a tautology but

(6)
OR

If sec 8=3" and 6 is in the IV quadrant fing the value of 288-3cos6 (6)
4sinf-9cos@
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If sln9=% find tan @ + sec g

UNIT - 111

Let A={1} B={a,b} Cc= {2,3} write AXB, BXa, A’XB, B*XA, C2XA and

AXBXC,

Let R={<1,2> <34> <2, 2}>

} S={<4,2> <2,5> <3,1> <1,3>}
Find R0 S, 5 °R,ReR, S

°S, (ReS)eR. and R °(SoR).
OR
Let A={3,4,5,17} B={1,2,3} C={x|x is an integer and 0 < « <5}

write AuB, BUC, A+B, B-C, ANC and BNC.
Defi

UNIT - 1v

Let f(x)— ‘ Prove that f ig discontinuous at x=3,
leferentlate (3x?

+5)(2x3 +X+7) with respect to x.
Evaluate [(4x3

+3x% - 2x + 5)dx

OR

. 4x’+5x3+7xz+6x
Evaluate | ( )
€ limy,, 5x547x2 4y

Differentiate 9x*-7x3+8x2 .8 +— With respect to x

Find the valye of fz Bx~ 2)2dx

**********

ne Symmetric, Reflexive and Transitive relations with example,

(6)

(6)

(6)

(6)
(6)

(4)
(4)
(4)
(4)
(4)
(4)
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UNIT - I (PROSE)

I. A Answer the following in a word/phrase/sentence each:

IL.

III.

1.

(5x1=5)
Tocqueville examines patriotism in all its forms particularly in the

interrelationships between man, government and
According to the lesson, ‘The Power of Prayer, Adversity always

presents opportunities for :

. The eighteen ‘flesh and blood machines’ are replaced by machines of

steel which spout out pins by the hundred million. What does the
underlined phrase mean?

The essay, ‘A Hanging’ is set in "

In a period where patriotism is self-oriented and driven by personal
advantage it is important to disintegrate the public and private interests.

TRUE/FALSE.

Answer any THREE of the following in about 180 words each:
(3x5=15)

What does Tocqueville say about irrational patriotism under monarchy?

Describe the tiny temple town of Rameswaram as a vehicle of moral

growth.
Elaborate on the significance of the prisoner avoiding a puddle and its

impact on the readers. _
Discuss how capitalism turns people into dangerous lunatics in the real

world?
UNIT - II (POETRY)

Answer any TWO of the following in about 180 words each:
(2x5= 10)
Explain how cosmic pattern is connected to the pattern of human life in
the poem, “Night and death.”
How is the tiger portrayed as a mythical beast which is almost
inexplicable in its beauty and glory?
How is death presented in the poem, "Do Not Go Gentle into That Good
Night?”
Comment briefly on the treatment of time in the poem, “A Hot Noon in
Malabar.”
UNIT - III (SHORT STORY)

Answer any TWO of the following in about 180 words each.

_ , (2x5=10)
How did the narrator of the story, ‘Getting Married’ solve the problem of
buying the chest of drawers?
Do you think the narrator had a role in arranging all the things for their
marriage in, ‘Getting Married’?
Examine Pahom'’s state of mind as he moves from being a peasant to
becoming a landowner.
Why does Pahom buy more and more land? What does this signify?

Contd...2
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UNIT - IV (GRAMMAR AND WRITING SKILLS)
Fill in the blanks with appropriate idioms and phrases given in

brackets. (5x1=5)
Apparently, he has stopped gossiping and promises to this
year.
I read the government’s on the great state of the health issues.
The government the Olympics to save the city money.
We're hoping that we’ll at least and perhaps make a small
profit.
Detectives will » in their efforts to find those responsible.
[ leave no stone unturned, turn over a new leaf, bank on, highly
coloured report, break even, bring home the bacon, at all costs]
Write a dialogue in about 150 words in five turns each. (1x5=5)
Write a dialogue that takes place between you and your class guide
seeking guidance as you are unable to attend 'yoga classes due to health

issues.
Develop a story based on the hints given below in about 150

words. (1x5=5)
A farmer---- huge farm---- scarcity of water----- neighbour---- bought
his well ---- cunning neighbour---- did not permit to draw water----
neighbour’s argument-sold well not water----- emperor--- wisest
courtier---- questioned the neighbor---- pay rent to farmer----- or empty
water----- realized mistake---- farmer grateful to the emperor----

happily went home.

Read the following passage and answer the questions that
follow. (5x1=5)

The majority of successful senior managers do not closely follow the
classical rational model of first clarifying goals, assessing the problem,
formulating options, estimating likelihoods of success, making a
decision, and only then taking action to implement the decision. Rather,
in their day-by-day tactical maneuvers, these senior executives rely on
what is vaguely termed “intuition” to manage a network of interrelated
problems that require them to deal with ambiguity, inconsistency,
novelty, and surprise; and to integrate action into the process to
thinking.

Generations of writers on management have recognized that some
practicing managers rely heavily on intuition. In general, however, such
writers display a poor grasp of what intuition is. Some see it as the
opposite of rationality; others view it as an excuse for capriciousness.
Isenberg’s recent research on the cognitive processes of senior
managers reveals that managers’ intuition is neither of these. Rather,
senior managers use intuition in at least five distinct ways. First, they
intuitively sense when a problem exists. Second, managers rely on
intuition to perform well-learned behavior patterns rapidly. This intuition
is not arbitrary or irrational, but is based on years of painstaking
practice and hands-on experience that build skills. A third function of
intuition is to synthesize isolated bits of data and practice into an
integrated picture, often in an “Aha!” experience. Fourth, some
managers use intuition as a check on the results of more rational

analysis. Most senior executives are familiar with the formal decision
Contd...2
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analysis models and tools, and those who use such systematic methods

for reaching decisions are occasionally leery of solutions suggested by
these methods which run counter to their sense of the correct course of
action. Finally, managers can use intuition to bypass in-depth analysis
and move rapidly to engender a plausible solution. Used in this way,
intuition is an almost instantaneous cognitive process in which a
manager recognizes familiar patterns.

One of the implications of the intuitive style of executive management Ii
that “thinking” is inseparable from acting. Since managers often "know
what is right before they can analyze and explain it, they frequently a_ct
first and explain later. Analysis is inextricably tied to action |!1
thinking/acting cycles, in which managers develop thoughts about th'etr
companies and organizations not by analyzing 2 problematic situation
and then acting, but by acting and analyzing in close concert. Given the
great uncertainty of many of the management issues that they face,
senior managers often instigate a course of action simply to learn more
about an issue. They then use the results of the action to develop @
more complete understanding of the issue. One implication of
thinking/acting cycles is that action is often part of defining the problem,
not just of implementing the solution.

1. According to the passage, senior managers use intuition in all
of the following ways EXCEPT to

(a) speed up of the creation of a solution to a problem.

(b) bring together disparate facts

(c) stipulate clear goals

2. The passage suggests which of the following about the
“writers on management”

(a) They have criticized managers for not following the classical rational
model of decision analysis.

(b) They have relied in drawing their conclusions on what managers say
rather than on what managers do.

(c) They have misunderstood how managers use intuition in making
business decisions.

3. According to the passage, the classical model of decision
analysis includes all of the following EXCEPT

(a) creation of possible solutions to a problem

(b) establishment of clear goals to be reached by the decision

(c) action undertaken in order to discover more information about a
problem

4. The passage provides support for which of the following
statements?

(a) Managers cannot justify their intuitive decisions.

(b) Managers’ intuition works contrary to their rational and analytical
skills

(c) Intuition enables managers to employ their practical experience
more efficiently.

5. Give a suitable title to the passage.
kkkkkkkRkE
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II.

III.

A

UNIT - I (PROSE)

Answer any TWO of the following in about 100-150 words
each: (2x5=10)
Describe the social setting of the short-story ‘A Waterfall of Horses'.
What is the significance of the title 'The Adventure of the Speckled
Band"?

Shashi Tharoor describes India in a very pessimistic manner.
Comment.

Who is the Human Phonograph? What role do they play in the short
story?

Answer any ONE of the following in about 250-300 words:
(1x10=10)
“Violence of temper approaching mania has been hereditary in the
men of the family, and in my stepfather’s case it had, I believe, been
intensified by his long residence in the tropics.” Comment on the
above with respect to the person who is referred to in ‘The Adventure
of the Speckled Band’.
Discuss the major themes and concerns covered by Shashi Tharoor in
the introduction to his book India: From Midnight to the Millennium
and Beyond with respect to contemporary issues affecting Indian
society.

UNIT - IT (NOVEL)
Answer any ONE of the following in about 250-300 words:
(1x10=10)
How does the geographical state in which The Girl from Nongrim Hills
become a character in the novel?
Critically analyze any two characters in the novel The Girl from
Nongrim Hills,

UNIT - III (POETRY)
Annotate any TWO of the following in about 100-150 words
each: (2x5=10)
All along the watchtower
Princes kept the view
While all the women came and went
Barefoot servants, too
Well, uh, outside in the cold distance
A wildcat did growl
Two riders were approaching
And the wind began to howl

I o ey W |

-



G 740 LA7.1 Page. No. 2

IV.

2.
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if you have to sit for hours
staring at your computer screen
or hunched over your
typewriter

searching for words,

don't do it.

if you're doing it for money or
fame,

don't do it.

if you're doing it because you want
women in your bed,

don't do it.

if you have to sit there and
rewrite it again and again,

don't do it.

But Oh! 'tis coldly cruel to wound .
The bosom whose blood must gush unbound.

No tear is so bright as the tear that flows

For erring woman's unpitied woes;

And blest be forever his honoured name

Who shelters an orphan from sorrow and shame!

Answer any TWO of the following in about 100-150 words
each: (2x5=10)
How does ‘The Orphan Girl’ talk about war?

Critically analyze the mythical imagery used in ‘Ms Millitancy’

What arguments does Charles Bukowski make about writing?

Write a short-note on Bob Dylan’s influences and how they affect the
composition of “All Along the Watchtower”

UNIT - IV (Grammar and Writing Skills)
Fill in the blanks with appropriate idioms from the options
given below. (5x1=5)
at all costs , to turn a new leaf, make a beeline, donkey’s
years, pull up your socks, to bank on, break even, copycat, on
the bench

Sudhir tried his best to but was unable to combat
inflation and rising rent.

Stella and Mary for the bookshop once the latest edition
arrived.

It has been since we saw a lunar eclipse.
I have been trying and quit smoking.
They can the senator’s support to pass the legislation,

Write a report for the following scenario in about 200 words.

: (1x5=5)
The NSS unit of your college recently held a cleaning-drive at a

popular local beach. You are Pramod/krithika, a second-year

journalism student who was sent to cover the event. Write a report of
the event to be sent to a local news website.
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Répondez en utilisant le pronom EN ou Y. (8x1=8)
Sony boit du café?
Voulez-vous manger un chocolat?
Les employés sont dans le bureau?
Il pense a son travail?
Il a beaucoup de cousins.
Est- ce qu’elle vient d’Inde?

Il va en France?

Vous achetez deux livre pour Paul?

Répondez en utilisant les Subjectifs. (4x1=4)
Il ne faut pas que vous (parler)......... pendant le cours.

Il est important qu’il (aller)....... a son rendez-vous.

11 faut quetu tu ( étre) ........ a ’heure chez le médicin.

Je serrai ravi qu’il (réussir) .....son concours

Comparez (4x1=4)
Les chinois et les indiens fabriquent des portables. (=)

Le fauteuil et la chaise (+ lourd)

Ryan et son frére. (mangent du riz -)

Valérie et Denis chantent. (bien +)

Mettez les phrases au futur simple (4x1=4)
Le week-end prochain ils ...........(courir) un marathon.

Bientét, les hommes ......... (habiter) sur Mars.

En 2023, nous........ (avoir) deux jours par semaine

Dans deux jours Luke Skywalker et Han Solo....... (passer) par Terre.

Répondez aux questions (4x5=20)
Expliquez I’enseignement en France.

Résumer I'article quelle école pour demain?

Expliquez le travail en France en dix points.

Expliquez le systéme politique en France



VI.

VII.

VIII.
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i i 5=5
Dialoguez sur le sujet suivant: . ‘ (1x ; dg
Votre ami va passer un examen ou un entrein pour trouver du travail. Il n’est pas sur

lui. Vous le rassurez.

Ou )
Vous étes avec un(e) ami (¢). Vous entrez dans un magasin pour a_cheter un vell&:mem
(ou un sac, etc). La vendeuse vous accueil. Vous demandez conseil. Vous choisissez.

Vous essayer le vétement etc.

(5)

Ecrivez une lettre de demamnde d’emploi.

COMPREHENSION o (532: 10)
La guerre de Troie( Trojan War) est I'une des guerres les plus célébres de I'histoire. Il est

bien connu pour sa durée de 10 ans, pour I'héroisme d'un certain nombre. ('ie personnages
légendaires et pour le cheval de Troie. Ce qui n'est peut-étre pas familier, cependant,
c'est I'histoire du début de la guerre. _

Selon le mythe grec, le conflit entre les Troyens et les Grecs a commencé au mariage de
Pélée, roi de Thessalie, et de Thétis, une nymphe de la mer. Tous les dieux et déesses
avaient été invités a la célébration du mariage & Troie, & I'exception d'Eris, déesse de la
discorde. Elle avait été omise de la liste des invités parce que sa présence mettait
toujours les mortels et les immortels en conflit.

Pour se venger de ceux qui l'avaient méprisée, Eris a décidé de provoquer une
escarmouche. Au milieu de la salle de banquet, elle langa une pomme d'or marquée «
pour la plus belle ». Toutes les déesses ont commencé & marchander pour savoir qui
devrait le posséder. Les dieux et les déesses ont atteint une impasse lorsque le choix a
été réduit 4 Héra, Athéna et Aphrodite. Quelqu'un était nécessaire pour régler la
controverse en choisissant un gagnant. Le travail est finalement tombé a Paris, fils du roi
Priam de Troie, qui était réputé étre un bon juge de beauté. Paris n'avait pas la tiche
facile. Chaque déesse, désireuse de gagner la pomme d'or, a essayé de le corrompre
agressivement. .

« Je vous accorderai de vastes royaumes a gouverner », a promis Héra. "Les vastes
royaumes ne sont rien en comparaison de mon don", a contredit Athéna. « Choisissez-
moi et je verrai que vous remportez la victoire et la gloire 4 la guerre. » Aphrodite a
cependant surpassé ses adversaires. Elle remporte la pomme d'or en offrant a Paris
Héléne, fille de Zeus et la plus belle mortelle du pays. Paris, soucieux de réclamer
Héléne, partit pour Sparte en Gréce.

Si Paris apprit qu'Héléne était mariée, il accepta néanmoins I'hospitalité de son mari, le
roi Ménélas de Sparte. Par conséquent, Ménélas a été indigné pour un certain nombre de
raisons lorsque Paris est parti, ramenant Héléne et une grande partie de la richesse du roi
a Troie. Ménélas a rassemblé ses forces loyales et a mis le cap sur Troie pour
commencer la guerre pour récupérer Helen.

1. Selon la mythologie grecque, quand le conflit entre les Troyens et les Grecs a-t-il
commencé ?

2. Quelle était la tache assignée a Paris ?

3. Eris était connue pour a la fois des mortels et des immortels.
a) complot contre

b) créer des conflits entre
c) se sentir hostile envers
d) ignorer

4. Chaque déesse a essayé de soudoyer Paris.
a) audacieusement

b) effectivement
c) secrétement
d) Réponse non disponible

5. Quelle escarmouche Eris a-t-il provoqué pendant le mariage ?
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GBEMO MEMRI NI O DAOMONAL)M) (5x1=5)
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PART - A
ENVIRONMENTAL STUDIES
L. Answer any TEN of the following Questions: (2x10=20)

1. What is desertification?
DOPRNEETY DoBBexd?

2. Write any two significances of The Wildlife Protection Act, 1972.
THED RoTYm T, 1972 T oIRFTEte 20w e, wdewd.
3. What is solid waste management?
apl;dsaﬁzsé NVETE oTFem?
4. What is ecological succession?
TORT B acrdesd?

What is acid rain? Mention the names of the gases involved in acid rain
formation.

8 DY 2oBBed? &3, DY SuIohY wYRRoAtES BawRy DR, eved eDA.
6. What are decomposers? Give an example.

DPLBMH SIRFYT)? wokd WREIR 2sn.
7. What is incineration?

OES Qoudexs?

8. What is biodiversity? Mention the types.
zscaiduaqsa QcuBen? eng .';gt'.racfn".:?ag=t W& e,

9. What are biodegradable wastes? Give an example.
2,08 DPEIReond TN SIRTYF? wod B R,
10. Define Environmental ethics.
Foxd aeémxﬁ Iy, TN
1. What do you mean by forests?
¥T, Qordexy?

12. What are sacred grooves?
TOY VAN cdpy?

Contd...2
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19.

20.

Answer any ONE of the following questions. (1x5=3)
Explain any two methods of water conservation.

D0 HotE Bodh cInFHmEte AR HRInT, HTOA.

Write short notes on Biodiversity Hotspots with special reference to India.
0SE DB e eDBeodr BeSFOF, MEMEFNY KD 0 L[N

wdand.

Answer any ONE of the following questions. (10x1=10)
Add a brief note on the environmental movements in India.

7o0dd S0RT WhTeNY 8o Rod s, wﬁ“eéoﬁd% AeOA.

What is disaster management? What are the self-protection measures taken
during flood?

DT, AT SoudeD? IBS  RoBPERQ, FAegBens Fobo

goridess?
PART -B
VALUE EDUCATION
Answer any ONE of the following in not less than a page. (5x1=5)

Explain five elements of the Integral Pedagogical Paradigm (IPP).

xor, bgmmij TRT00D 0INYTIRCR D esoafmﬁaig‘ DTOAD

Write down the need for the right self-esteem.

ROCIRT M, PHHEPIB EEPATIS Wil 83 wond.

Answer any ONE of the following in not less than two (10x1=10)

pages.
Explain the techniques to enhance critical thinking skills.

DHZEI,T BoITohy FyYxen VRN ooy DIOLO.

Explain the support system available at the college to reach out to society.

ADREIFH, DT> PRPIHS oww “ﬁﬁm o £33 TaNd
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